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1.Wanda Littlemore’s utility function is U(X, Y)=X+63Y - 3Y% Her income

is 184. If the price of X is 1 and the price of Y is 33, how many units of

good X will Wanda demand?
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3. Assume that a consumer has an income of $30,000 that he spends on air travel, Y,
and all other goods X. Assume Py = 1. Suppose that the price for each mile of the
first 10,000 miles of air travel is $2 per mile. A frequent traveler program gives a
50% discount to travelers for every mile above 10,000 miles. Can you draw the
budget constraint and find the equations that define each part of it? Suppose that

the consumer’s utility function is U= XY. Can you calculate and show on the
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diagram the optimal choice of the consumer? Show how it is possible that a

consumer with different but still convex indifferent curves could be indifferent

between two different optimal choices. [934 K7 #F ]
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